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4.4 DiVldlng Polynomials - Form A (ail work on separate sheet of paper. Final answers on this WS for full
credit.)

Examples 1
Simplify each expression. '
1. (4f5 —6f* +12f% - 8f%)(4f*)™} 2. (4a*h*-8a%h +3a”‘) +(2a?)
(--L?J"'.:’ /:a"/( r}-f.{
Examples 2and 4
Simplify by using long division.
3. (*+4d+3)(d+1)™* 4. (6y? +y 2)(2y—-1)*t 5. (2x*=5x—4) + (x—3)
A+ 2 ”‘j Y D x] = ﬁ_;?_
Examples 4 and 5
Simplify using synthetic division.

-
6. (3t*+4t3 —30t2 —5t-20)(t+ 4yt 7SI IR 8. (3¢* + 6 —2c + 4)(c + 2)
2t3 542 _¢ Y@ o gy B 5T
- t b ¥ 1' v - fJ - i - -
Mixed Exercises 2 X737 2t b
Simplify.
9.(c ~60 +10a-3)+(a—3) 10. (x®+2x*—34x+9) + - (x+7)
(l“'J(tfl (7'\—"")\-3{,# ::{
11. (6 + X2 +x) + (2x+ 1) 12. (x“ y“) x=)
Ikt 25+l AP+ X2y + Xy *4y T em (x*+y N xry)
13. (a’b* - o®b +2b)(-ab)* g, BB HI; ;371) 2 S
a*b t+a - = o ~p-4 " pr3

15. AVERAGES Bena has a list of n + 1 numbers and she needs to fmd thew average. Two of the numbers are n® and 2.

Each of the other n — 1 numbers are all equal to 1. Find the average of these numbers. A*~nea = o,

hr/
4 _ Fowex 2
16. REASONING Rewrite 2X—2% lei’; T s s qg(x) + % using long division. What does the remainder indicate in
this problem? Z >~ x o &8

xS+2x2+x-2
2x +3
e \,\f‘ a. ldentify q(x), r(x), and g(x).
\‘wb/ b. How can you check your work using the expressions of g(x), g(x), and r(x)?

rx)

17. REGULARITY Rewrite )

asq(x) + using long division.

18. USE A MODEL Luciano has a square garden. A new

garden will have the same width and a length that is

3 feet more than twice the width of the original

garden.

a. Define a variable and label each side ofthe diagrams with an
expression for its length. 2 0@ + =

b. Write a ratio to represent the percent mcrease in the area of the garden. Use polynomial division to simplify the
expression.

c. Use your expression from part b to determlne the percent of increase in area if the original garden was a 12-foot
square. Check your answer.
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19.

20.

21.

PERSEVERE If a polynomial is divided by a binomial and the remainder is 0, what does this tell you about the
relationship between the binomial and the polynomial?

/ Vi
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CREATE Write a quotient of two polynomials for which the remainder is 3.

Ay urLat— X i_f A

PERSEVERE Mr. Collins has his class working with bases and polynomials. He wrote on the board that the number
1111 in base B has the value B* + B? + B + 1. The class was then given the following questions to answer.
a. The number 11 in base B has the value B + 1. What is 1111 (in base B) divided by
11 (inbase B)? 4 7 +|
b. The number 111 in base B has the value B* + B + 1. What is 1111 (in base B) divided by
111 (in base B)? .

f
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